
CHEMISTRY

JEE (MAIN AND ADVANCED) CHEMISTRY

VII GROUP ELEMENTS

Problems

1. Write on the electropositivity of iodine .

Watch Video Solution

2. What is the order of bond enthalpies of halogens? Why is it not

opposite to that of bond lengths?

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_3ldUbVceBoTF
https://dl.doubtnut.com/l/_s3Oqv8y7yivd


3. Chlorine can exhibit  and  states, while �uorine can exhibit

only , but not . Why?

Watch Video Solution

−1 +1

−1 +1

4. Among the reactions, 

 and  

 which is more feasible ? Give the reason. 

Watch Video Solution

F2 ( g ) + 2e− → 2F −
( g )

Cl2 ( g ) + 2e− → 2Cl−
( g )

5. Iodine is violet coloured. Why?

Watch Video Solution

https://dl.doubtnut.com/l/_s3Oqv8y7yivd
https://dl.doubtnut.com/l/_FjBoxaXXE8aF
https://dl.doubtnut.com/l/_4Dn0VhpZ3AOr
https://dl.doubtnut.com/l/_FsKPC7PEZ1mw


6. Standard reduction potential (SRP) of �uorine is highest.

Comment

Watch Video Solution

7. Electron gain enthalpy of �uorine is less than that of chlorine.

Why? 

Watch Video Solution

8. Bond enthalpy of bromine is . If enthalpy of

vapourisation of  is , electron gain enthalpy of 

is  and hydration enthalpy of bromide is 

 calculate the change in enthalpy for the reaction, 

. 

Watch Video Solution

194kJmol−

Br2 +30kJmol− Br

−325kJmol− 1

−339kJmol− 1

Br2(l) + e−
aq

−−→ Br− (aq)
1

2

https://dl.doubtnut.com/l/_9OVhU4v2gCtl
https://dl.doubtnut.com/l/_eaufQI0exOUa
https://dl.doubtnut.com/l/_z7g2j6vWTkaJ


9. Heavier halide is oxidised by lighter halogen. Justify. 

Watch Video Solution

10. Electrolysis of aqueous  produces  at anode but not 

Explain.

Watch Video Solution

HF O2 F2

11. Analyse the bonds present in  

Watch Video Solution

KHF2

12. What is the action of litmus with aqueous chlorine? 

Watch Video Solution

https://dl.doubtnut.com/l/_z7g2j6vWTkaJ
https://dl.doubtnut.com/l/_90Mnt8zvMcZT
https://dl.doubtnut.com/l/_S7QqIZAKV1Ia
https://dl.doubtnut.com/l/_49Ckn18uR6Hg
https://dl.doubtnut.com/l/_XXWSrQJocDkG


13. What kind of reaction that chlorine undergoes with aqueous

alkali solution ? 

Watch Video Solution

14.  is more reactive than  but when  reacts with 

 is liberated. Why?

Watch Video Solution

Cl2 I2 KCIO3

I2, Cl,2

15. When HCl reacts with powdered iron, ferrous chloride is formed,

but not ferric chloride. Why? 

Watch Video Solution

https://dl.doubtnut.com/l/_XXWSrQJocDkG
https://dl.doubtnut.com/l/_u0Gyl8Djyrbj
https://dl.doubtnut.com/l/_bCtvB7b2Vxse
https://dl.doubtnut.com/l/_SF2aEiPHHyRA


16. What happens when some ethyl alcohol is added in the Nelson's

cell and the cell is closed ?

Watch Video Solution

17. Hypochlorite is a strong oxidant and bleaching agent. Why? 

Watch Video Solution

18. Perchloric acid is strongest acid, but weakest oxidising agent.

Why? 

Watch Video Solution

19. Chlorine trioxide is paramagnetic, but chlorine hexoxide is

diamagnetic. Explain.

https://dl.doubtnut.com/l/_6Jf4wlkBCYp0
https://dl.doubtnut.com/l/_syC1DLr9mI4w
https://dl.doubtnut.com/l/_Id0qK5OuckwR
https://dl.doubtnut.com/l/_BHf2GideH2GP


Subjective Exercise 1 Long Answer Questions

Watch Video Solution

1. Discuss the following trends in halogens. 

(a) atomic radius 

(b) ionisation potential 

 (c) electron a�nity and 

(d) electronegativity. 

Watch Video Solution

2. Discuss on the oxidation ability of halogens. 

Watch Video Solution

https://dl.doubtnut.com/l/_BHf2GideH2GP
https://dl.doubtnut.com/l/_NnRhs64Oy8Nz
https://dl.doubtnut.com/l/_TA1dKhSNEAfU


Subjective Exercise 1 Short Answer Questions

3. What are interhalogen compounds ? Do all these interhalogen

cokpounds have halogens in the same hybridized state ? Write the

structures of all the interhalogen compounds.

Watch Video Solution

1. Discuss the electronic con�guration of halogens .

Watch Video Solution

2. Write on the occurrence and important minerals of halogens

Watch Video Solution

https://dl.doubtnut.com/l/_jlroh1Kg5d26
https://dl.doubtnut.com/l/_I1T5yIgkYM8w
https://dl.doubtnut.com/l/_OMXKzDc5ddut


3. Write on the bonding and oxidation states of halogens.

Watch Video Solution

4. How does halogens react with (a) water (b) alkali and (c) metals

Watch Video Solution

5. Discuss the reactivity of halogens with hydrogen.

Watch Video Solution

6. Write a note on bonding and structures of interhalogen

compounds.

Watch Video Solution

https://dl.doubtnut.com/l/_nL9wWj2Fn6Cq
https://dl.doubtnut.com/l/_Bczv4kTDzSYg
https://dl.doubtnut.com/l/_hHuzgMrcz7Sb
https://dl.doubtnut.com/l/_raXkTC06NKSW


Subjective Exercise 1 Very Short Answer Questions

7. Explain the oxidation states of chlorine with respect to its

electronic con�guration

Watch Video Solution

8. Name the hybridizations occurring in the interhalogen

compounds.

Watch Video Solution

1. Write the names of all the VIIA group elements.

Watch Video Solution

https://dl.doubtnut.com/l/_YPlQ2o3ytyJK
https://dl.doubtnut.com/l/_2yqm02IneyYI
https://dl.doubtnut.com/l/_1pMJhkrK4oIK


Subjective Exercise 2 Short Answer Questions

2. Mention the most electronegative element in the periodic table.

What is the electronegativity value of �uorine ? 

Watch Video Solution

3. Name the element with highest electron a�nity and give its

value. 

Watch Video Solution

4. Why is the electron a�nity of chlorine greater than that of

�uorine ?

Watch Video Solution

https://dl.doubtnut.com/l/_44TMriqmCrPv
https://dl.doubtnut.com/l/_4jU9uXOzc8DF
https://dl.doubtnut.com/l/_ujmY5nTXSL16
https://dl.doubtnut.com/l/_ISvaBXsJ2wqP


Subjective Exercise 2 Very Short Answer Questions

1. Write the examples denoting anamolous behaviour of �uorine

Watch Video Solution

1. Compare the bond energy of �uorine with that of other halogens. 

Watch Video Solution

2. Fluorine exhibits only - 1 oxidation state in its compounds. Why?

Watch Video Solution

3. Rectivity of �uorine with water is di�erent from that of other

halogens. Substantiate.

https://dl.doubtnut.com/l/_ISvaBXsJ2wqP
https://dl.doubtnut.com/l/_LoiDevXrun9Y
https://dl.doubtnut.com/l/_4wzPnA4uSsl8
https://dl.doubtnut.com/l/_Z5TPdObuHtkA


Subjective Exercise 3 Long Answer Questions

Watch Video Solution

4. Write two factors supporting anamolous behaviour of �uorine.

Watch Video Solution

1. Describe the Nelson's cell method for the preparation of chlorine. 

Watch Video Solution

2. Write the general chemical properties of chlorine. 

Watch Video Solution

https://dl.doubtnut.com/l/_Z5TPdObuHtkA
https://dl.doubtnut.com/l/_v4vDQuJ8Bcvk
https://dl.doubtnut.com/l/_kUAJnpyQxSvd
https://dl.doubtnut.com/l/_08G0UadMIrbZ


Subjective Exercise 3 Short Answer Questions

1. How does chlorine react with hydrocarbons ? Write the necessary

chemical equations.

Watch Video Solution

2. Mention the important uses of chlorine

Watch Video Solution

3. How hydrogen chloride is prepared in the laboratory ?

Watch Video Solution

https://dl.doubtnut.com/l/_cvTwMdwCQREp
https://dl.doubtnut.com/l/_65Z0B5Gmfx6M
https://dl.doubtnut.com/l/_75pVXZgK7DRA


Subjective Exercise 3 Very Short Answer Questions

4. Discuss the acidic character of HCI. How does it decompose salts

of weaker acids ? 

Watch Video Solution

1. Write the electrode reactions in Nelson's cell.

Watch Video Solution

2. When does  react with  ? Give the equation. 

Watch Video Solution

Cl2 CO

3. Write the balanced equation(s) for the reaction of  with .Cl2 NH3

https://dl.doubtnut.com/l/_Fsi5nOszdkXk
https://dl.doubtnut.com/l/_ZH3W1uVB9N4s
https://dl.doubtnut.com/l/_xejcAEU7jetv
https://dl.doubtnut.com/l/_651t3irzl2o4


Subjective Exercise 4 Long Answer Questions

Watch Video Solution

4. One mole of  is mixed with 8 moles of  in a reaction

vessel. Write the equation.

Watch Video Solution

NH3 Cl2

5. How does chlorine react with hypo ? 

Watch Video Solution

1. Write various oxyacids of chlorine. Write the oxidation numbers of

chlorine in these Oxyacids.

Watch Video Solution

https://dl.doubtnut.com/l/_651t3irzl2o4
https://dl.doubtnut.com/l/_nqroelpg5klh
https://dl.doubtnut.com/l/_CbAjN46leRwA
https://dl.doubtnut.com/l/_P9yVLnXeyPs2


Subjective Exercise 4 Short Answer Questions

1. How many types of adsorption are known ? What are they ?

Watch Video Solution

2. Discuss and compare the acidic nature of chlorine.

Watch Video Solution

3. Discuss the structures of oxyanions of chlorine. Compare the O-Cl

bond lengths and bond energies 

Watch Video Solution

https://dl.doubtnut.com/l/_P9yVLnXeyPs2
https://dl.doubtnut.com/l/_f132Wk59JN2Z
https://dl.doubtnut.com/l/_U1xVCr90Q8gP
https://dl.doubtnut.com/l/_ic2kwUHr58RP


Subjective Exercise 4 Very Short Answer Questions

4. Discuss the structures of oxyanions of chlorine. Compare the O-Cl

bond lengths and bond energies 

Watch Video Solution

5. Comment on the bleaching and oxidation ability of perchlorate .

Watch Video Solution

1. Which halogen has no oxyacids

Watch Video Solution

2. What is the structure of  ? HCIO4

https://dl.doubtnut.com/l/_vTsb3iPlftp7
https://dl.doubtnut.com/l/_TPBEzw41ZGOH
https://dl.doubtnut.com/l/_CwupJ22cPshY
https://dl.doubtnut.com/l/_O5UuKqC0PeZz


Watch Video Solution

3. Which oxyacids of chlorine is strongest ? . Why?

Watch Video Solution

4. Give hybridisation of chlorine lone pairs on chlorine in chloric

acid.

Watch Video Solution

5. Name the less stable oxyanion of chlorine Write the reason .

Watch Video Solution

6. Give the structures of chlorous acid and chloric acids .

https://dl.doubtnut.com/l/_O5UuKqC0PeZz
https://dl.doubtnut.com/l/_YmbcLju9a8v0
https://dl.doubtnut.com/l/_jH4cSWSVFR0b
https://dl.doubtnut.com/l/_ELypIj0f5C5o
https://dl.doubtnut.com/l/_JEbpcFUORIV2


Objective Exercise 1

Watch Video Solution

7. Perchloric acid is strongest acid, but weakest oxidising agent.

Why? 

Watch Video Solution

1. The number of unpaired electrons present in the �rst excited

state of chlorine atom is

A. 1

B. 3

C. 5

D. 2

https://dl.doubtnut.com/l/_JEbpcFUORIV2
https://dl.doubtnut.com/l/_mMPL2QxOYs90
https://dl.doubtnut.com/l/_RtPkQFAu96zH


Answer: B

Watch Video Solution

2. Which of the following halogens has metallic character ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

F2

CI2

Br2

I2

3. Super halogen is

https://dl.doubtnut.com/l/_RtPkQFAu96zH
https://dl.doubtnut.com/l/_PgTrkKSPuAcC
https://dl.doubtnut.com/l/_O6TwNvo9GxAd


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

F2

Cl2

Br2

I2

4. The element which never acts as reducing agent in a chemical

reaction is

A. O

B. Li

C. F

D. C

https://dl.doubtnut.com/l/_O6TwNvo9GxAd
https://dl.doubtnut.com/l/_Eh9brFZwALLw


Answer: C

Watch Video Solution

5. The high reactivity of �uorine is mainly due to

A. high heat of hydration

B. small size

C. low bond dissociation energy of F-F bond

D. high ionisation potential

Answer: C

Watch Video Solution

6. The type of forces present among halogen molecules

https://dl.doubtnut.com/l/_Eh9brFZwALLw
https://dl.doubtnut.com/l/_XSfVuOUFX7fc
https://dl.doubtnut.com/l/_a4p2f6fgSPSF


A. H- bonds

B. Covalent bonds

C. Vandar waal 's force

D. Ionic bond

Answer: C

Watch Video Solution

7. The correct order of Vander Waals radius of F, Cl and Br is : 

A. 

B. 

C. 

D. 

Answer: B

Cl > F > Br

Br > Cl > F

F > Cl > Br

Br > F > Cl

https://dl.doubtnut.com/l/_a4p2f6fgSPSF
https://dl.doubtnut.com/l/_IjSHAgOuk6vr


Watch Video Solution

8. Liquid and solid halogens are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Br2 and Cl2

I2 and Br2

Br2 and I2

Cl2 and I2

9. The halogen that undergoes sublimation is

A. F2

https://dl.doubtnut.com/l/_IjSHAgOuk6vr
https://dl.doubtnut.com/l/_Xlt7GGb9kNbW
https://dl.doubtnut.com/l/_bFCYx5xLSiGD


B. 

C. 

D. 

Answer: D

Watch Video Solution

Cl2

Br2

I2

10. Ionisation potential of �uorine is abnormally high. It is due to

A. Its high EN value

B. Its high EA value

C. Its small size

D. Its big size

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_bFCYx5xLSiGD
https://dl.doubtnut.com/l/_kAkhRPXAFehE


11. The elements with the highest electron a�nity and

electronegativity respectively are

A. Cl and Cl

B. F and F

C. F and Cl

D. Cl and F

Answer: D

Watch Video Solution

12. An element M has an atomic mass 19 and atomic number 9. Its

ion is represented by

A. M +

https://dl.doubtnut.com/l/_kAkhRPXAFehE
https://dl.doubtnut.com/l/_TH9meYCGWJzw
https://dl.doubtnut.com/l/_czJ27zwuJKVr


B. 

C. 

D. 

Answer: C

Watch Video Solution

M 2 +

M −

M 2 −

13. General oxidation states of halogens are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

−1, + 1

−1, + 1, + 3

−1, + 1, + 3, + 5

−1, + 1, + 3, + 5, + 7

https://dl.doubtnut.com/l/_czJ27zwuJKVr
https://dl.doubtnut.com/l/_34z98ZNFu2Cj


14. Which one of the following elements can show both positive and

negative oxidation state ? 

A. F

B. I

C. Li

D. He.

Answer: B

Watch Video Solution

15. The maximum oxidation state that can be exhibited by a halogen

in its second excited state

A. +1

https://dl.doubtnut.com/l/_34z98ZNFu2Cj
https://dl.doubtnut.com/l/_3PlFrJN0umpI
https://dl.doubtnut.com/l/_zrmpdpgWnvqi


B. 

C. 

D. 

Answer: C

Watch Video Solution

+3

+5

+7

16. Which one of the following elements show di�erent oxidation

states?

A. Sodium

B. Fluorine

C. Chlorine

D. Potassium

Answer: C

https://dl.doubtnut.com/l/_zrmpdpgWnvqi
https://dl.doubtnut.com/l/_GbnIQnvg3dKH


Watch Video Solution

17. Enthalpy of dissociation is low for 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

F2

Cl2

Br2

I2

18.  absorbs ........ portion of light and appear yellow and 

absorbs .......... portion of light and appears violet 

A. Red and Green

F2 I2

https://dl.doubtnut.com/l/_GbnIQnvg3dKH
https://dl.doubtnut.com/l/_8l4QbF8kOiNf
https://dl.doubtnut.com/l/_ETIiMoWuc8jS


B. Violet and Yellow

C. Blue and Orange

D. Green and Red

Answer: B

Watch Video Solution

19. In  type sof molecule if 'A' undergoes  hybridisation,

then the shape of the molecule is

A. T- shape

B. Octahedral

C. Square pyramidal

D. Tetrahedal

Answer: C

AX5 sp3d2

https://dl.doubtnut.com/l/_ETIiMoWuc8jS
https://dl.doubtnut.com/l/_1VfKKoAuBhsY


Watch Video Solution

20. The hybridization in interhalogen compound  is 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

AX7

sp3d3

sp3

sp3d

sp3d2

21. The strongest oxidising agent among the following is

A. Cl2

https://dl.doubtnut.com/l/_1VfKKoAuBhsY
https://dl.doubtnut.com/l/_sqpH4HzqXcov
https://dl.doubtnut.com/l/_pJJg6OgB9Bhk


B. 

C. 

D. 

Answer: B

Watch Video Solution

F2

O3

H2O2

22. The order of reactivity of halogens with Hydrogen is 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

F2 < Cl2 < Br2 < I2

F2 > Cl2 > Br2 > I2

F2 < Br2 < Cl2 < I2

F2 > I2 > Br2 > Cl2

https://dl.doubtnut.com/l/_pJJg6OgB9Bhk
https://dl.doubtnut.com/l/_cJxBJ8ynomrn


23. Which of the following is incorrect with respect to property

indicated ? 

A. 

B. 

C. Oxidising power : 

D. Bond energy : .

Answer: D

Watch Video Solution

E. N :F > Cl > Br

E. A :Cl > Br < F

F2 > Cl2 > Br2

F2 > Cl2 > Br2

24. Which halogen has highest ionisation potential

A. Fluorine

https://dl.doubtnut.com/l/_cJxBJ8ynomrn
https://dl.doubtnut.com/l/_ZpXgVPdwHHMY
https://dl.doubtnut.com/l/_6dFWnoIvxeyp


B. Chlorine

C. Bromine

D. Iodine

Answer: A

Watch Video Solution

25. The electron a�nity values(in  of three halogens x, y

and z are respectively  Then x, y and z

respectively are 

A. F, Cl and Br

B. Cl, F and Br

C. Cl, Br and F

D. Br, Cl and F

KJmole− 1)

−349, − 333 and − 325.

https://dl.doubtnut.com/l/_6dFWnoIvxeyp
https://dl.doubtnut.com/l/_EUGVcDwZQtIo


Answer: B

Watch Video Solution

26. Which of the following is most volatile

A. HI

B. HBr

C. HCl

D. HF.

Answer: C

Watch Video Solution

27. Correct order of boiling points of hydrogen halides is

https://dl.doubtnut.com/l/_EUGVcDwZQtIo
https://dl.doubtnut.com/l/_1Rh5Pvlzl6op
https://dl.doubtnut.com/l/_rp0lq8N9r8Of


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

HF > HCl > HBr > HI

HF < HCl < HBr < HI

HCl < HBr < HI < HF

HF < HBr < HI < HCl

28. Match the correct bond dissociation in halogens 

A. 

B. 

Halogens Bond energy 

F2 158.8 Kj mol − 1

Cl2 242.6KJmol − 1

Br2 151.1KJmol − 1

I2 192.8KJmol − 1

1 − A, 2 − B, 3 − D, 4 − C

1 − A, 2 − B, 3 − C, 4 − D

https://dl.doubtnut.com/l/_rp0lq8N9r8Of
https://dl.doubtnut.com/l/_mSwi9SLwcsv5


C. 

D. 

Answer: A

Watch Video Solution

1 − B, 2 − A, 3 − D, 4 − C

1 − D, 2 − C, 3 − A, 4 − B

29. Identify the wrong statement/s 

I) All halogens are coloured II)  are gases whereas 

 are liquids  

III)  are sparingly soluble in water but are soluble in

various organic solvents like  etc .

A. Only I & III

B. Only I & II

C. Only II

D. Only II & III

F2 and Cl2

Br2 and I2

Br2 and I2

CCl4, CS2

https://dl.doubtnut.com/l/_mSwi9SLwcsv5
https://dl.doubtnut.com/l/_es86Ys1ASI8O


Answer: C

Watch Video Solution

30. The wrongly matched amongst the following is :

A. Boiling point /

B. Acidic strength 

C. Stability 

D. Bond dissociation energy 

Answer: D

Watch Video Solution

K − HCl < HBr < HI < HF

−HF < Hcl < HBr < HI

−HF < HCl < H − Br < HI

−HCl < HBr < HI < HF

31. If 'M' is a monovalent metal , the order of ionic character of their

halides respectively is

https://dl.doubtnut.com/l/_es86Ys1ASI8O
https://dl.doubtnut.com/l/_eRIscYN2q3f2
https://dl.doubtnut.com/l/_YBDvu0JjqH4k


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

MF > MCl > MBr > MI

MI > MBr > MCl > MF

MF > MCl > MI > MBr

MCl > MF > MBr > MI

32. In the reaction  is

A. 

B. 

C. 

D. 

Answer: A

2Br− + X2 → Br2 + 2X − , X2

Cl2

Br2

I2

N2

https://dl.doubtnut.com/l/_YBDvu0JjqH4k
https://dl.doubtnut.com/l/_ws8kwdgDt2lh


Watch Video Solution

33. Which of the following has greatest reducing power ?

A. HI

B. HBr

C. HCI

D. HF.

Answer: A

Watch Video Solution

34. Mark the element which shows only one oxidation state in its

compounds

A. F

https://dl.doubtnut.com/l/_ws8kwdgDt2lh
https://dl.doubtnut.com/l/_rSDxzxNmGkDh
https://dl.doubtnut.com/l/_atwXCg8Ea8BD


B. Cl

C. Br

D. I .

Answer: A

Watch Video Solution

35. The correct order of the thermal stability of hydrogen halide (H -

X) is 

A. 

B. 

C. 

D. 

Answer: B

HI > HBr > HCl > HF

HF > HCl > HBr > HI

HCl < HF > HBr < HI

HI > HCl < HF < HBr

https://dl.doubtnut.com/l/_atwXCg8Ea8BD
https://dl.doubtnut.com/l/_SvRCx4cAmnIB


Watch Video Solution

36. Which of the following statements regarding structure is not

correct

A. ONF is isoelectronic with 

B.  is an oxide of �uorine

C.  is an anhydride of perchloric acid

D.  molecule is bent

Answer: B

Watch Video Solution

O2N
−

OF2

Cl2O7

O3

37. Chlorine acts as a bleaching agent only in the presence of 

A. Dry air

https://dl.doubtnut.com/l/_SvRCx4cAmnIB
https://dl.doubtnut.com/l/_olTZ4MRwg5Bj
https://dl.doubtnut.com/l/_ffmoUuHoB38K


B. Moisture

C. Sun light

D. None of these

Answer: B

Watch Video Solution

38. The following is not a mineral of Chlorine

A. Carnalite

B. Horn silver

C. Sylvine

D. Cryolite

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_ffmoUuHoB38K
https://dl.doubtnut.com/l/_4lJ96crITaZi


39.  (or) (or)  reacts with cold and dilute alkali solution to

form 

A. Halide + Hypohalite

B. Halide + Hypohalite 

C. Halide + Halite

D. Halide + Halate 

Answer: B

Watch Video Solution

Cl2 Br2 I2

+H2O

+H2O

40.  (or)  (or)  reacts with hot conc. Alkali solution to form 

A. Halide + Hypohalite

CI2 Br2 I2

https://dl.doubtnut.com/l/_4lJ96crITaZi
https://dl.doubtnut.com/l/_jhiBItJr0T3N
https://dl.doubtnut.com/l/_fNr3iA5GRn0X


B. Halide + Hypohalite 

C. Halide + Halite

D. Halide + Halate 

Answer: D

Watch Video Solution

+H2O

+H2O

41. When Brine solution is subjected to electrolysis the gases

liberated at anode and at cathode are

A. 

B. 

C. 

D. 

Answer: D

H2 and Cl2

H2 and O2

Cl2 and O2

Cl2 and H2

https://dl.doubtnut.com/l/_fNr3iA5GRn0X
https://dl.doubtnut.com/l/_ycww1j0LsdbH


Watch Video Solution

42. At ordinary temperature  reacts with 

A. 

B. 

C. He

D. Cu

Answer: D

Watch Video Solution

Cl2

O2

N2

43. Chlorine oxidises  to 

A. S

H2S

https://dl.doubtnut.com/l/_ycww1j0LsdbH
https://dl.doubtnut.com/l/_L1cAC3pSZQry
https://dl.doubtnut.com/l/_vknAbUiNMNIE


B. 

C. 

D. 

Answer: A

Watch Video Solution

SO2

H2SO4

H2SO3

44. The products formed when  reacts with excess of  are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Cl2 NH3

NCl3 + HCl

N2 + HCl

NCl3 + N2

N2 + NH4Cl

https://dl.doubtnut.com/l/_vknAbUiNMNIE
https://dl.doubtnut.com/l/_aCQ24CJ45xru


45. What are the products formed when ammonia reacts with

excess chlorine ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

N2 and NCl3

N2 + HCl

NCl3 + N2

N2 + NH4Cl

46. In the use of  as bleaching agent, the substance that is

mainly responsible for the bleaching is 

A. 

Cl2

HClO2

https://dl.doubtnut.com/l/_aCQ24CJ45xru
https://dl.doubtnut.com/l/_XZI0S5ntCkTG
https://dl.doubtnut.com/l/_RN2GGJDLmJIb


B. 

C. 

D. 

Answer: D

Watch Video Solution

HClO3

HClO4

HOCl

47. Which of the following is used in the extraction of gold 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

F2

Cl2

Br2

I2

https://dl.doubtnut.com/l/_RN2GGJDLmJIb
https://dl.doubtnut.com/l/_q2KWSIVPyoDG


48. Which one of the following is formed apart from sodium

chloride when chlorine reacts with hot concentrated sodium

hydroxide?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NaClO

NaClO2

NaClO3

NaClO4

49. The catalyst in Deacon 's process is

A. Cu2Cl2

https://dl.doubtnut.com/l/_q2KWSIVPyoDG
https://dl.doubtnut.com/l/_6dEvYz7549Uh
https://dl.doubtnut.com/l/_yqArrayHqXA5


B. Pt

C. 

D. 

Answer: D

Watch Video Solution

AlCl3

CuCl2

50. A metal ,M forms chlorides in its +2 and +4 oxidatio states .

Which of the following statements about these chlorides is correct

?

A.  is more volatile than 

B.  is more soluble in anhydrous ethanol than 

C.  is more ionic than 

D.  is more easily hydrolysed than 

MCl2 MCl4

MCl2 MCl4

MCl2 MCl4

MCl2 MCl2

https://dl.doubtnut.com/l/_yqArrayHqXA5
https://dl.doubtnut.com/l/_B7yPWvWhtpNl


Answer: C

Watch Video Solution

51. In the reaction

Then the correct statement regarding 'X' are 

I) It is a greenish yellow coloured gas . 

II) It can also be prepared by Deacons process 

III) It can be lique�ed into greenish yellow liquid which boils at 239K

A. Only I & III

B. Only I & II

C. Only II & III

D. All

Answer: D

4NaCl + MnO2 + 4H2SO4 → MnCl2 + 4NaHSO4 + 2H2O + 'X'

https://dl.doubtnut.com/l/_B7yPWvWhtpNl
https://dl.doubtnut.com/l/_WS8xdLSUmSxs


Watch Video Solution

52. In the followingreactions 

(a)  

 

x and y respectively are :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

6NH3 + 3Cl2 → 6NH4Cl + ' x'

NH3 + 3Cl2 → ' y' + 3HCl

HCl and N2

N2 and HCl

N3H and HCl

N2 and NCl3

https://dl.doubtnut.com/l/_WS8xdLSUmSxs
https://dl.doubtnut.com/l/_Z2gzAqdZ0EAM


53. Although electron gain enthalpy of �uorine is less negative as

compared to chlorine , �uorine is a stronger oxidizing agent than

chlorine this is due to

A. Low enthalpy of dissociation of F- F bond

B. High hydration enthalpy of 

C. Bond 1 & 2

D. Least ionization potential

Answer: C

Watch Video Solution

F −

54. The molecule  is commonly called as

A. Tear gas

B. DDT

ClCH2CH2SCH2CH2Cl

https://dl.doubtnut.com/l/_2l8hXDz1Im0q
https://dl.doubtnut.com/l/_T6M3OZj0DzTf


C. Mustard gas

D. Phosgene

Answer: C

Watch Video Solution

55. The wrong statement amongst the following regarding HCl is

A. It is used in the manufacture of glucose from corn starch

B. It is used for extractin glue from bones

C. It is used in the preparation of phosgene

D. It is used in purifying bone black

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_T6M3OZj0DzTf
https://dl.doubtnut.com/l/_PvicP9i7iG5e
https://dl.doubtnut.com/l/_OvDG48yxZV5a


56. Choose the Wrong statement amongest the following

A. Chlorine water on long standing loses its yellow colour due to

the formation of HCl and HOCl

B. The composition os bleaching power is

C. The bleaching action of chlorine water is due to reduction

D. Chlorine gives addition products with unsaturated

hydrocarbons

Answer: C

Watch Video Solution

Ca(OCl)2. CaCl2. Ca(OH)22H2O

57.  reacts with water and forms Cl2

https://dl.doubtnut.com/l/_OvDG48yxZV5a
https://dl.doubtnut.com/l/_s9Gk8MIpdarm


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

HCl + HOCl

HCl + O2 + O3

HCl + HOCl + O3

HOCl4O2

58. Predict the correct product when  passed through 

 solution

A.  (both oxygen having 18)

B.  (all oxygen having 18)

C.  (all oxygen having 18)

D.  (all oxygen having 18)

Cl2

H −
18

O −
18

O − H

H + + Cl− + O2

HOCl and HClO2

HClO4 and HCl

Cl2O and H2O

https://dl.doubtnut.com/l/_s9Gk8MIpdarm
https://dl.doubtnut.com/l/_ceWC0yGmPV5h


Answer: A

Watch Video Solution

59. Extraction of chlorine from brine solution is based on

A. Oxidation

B. Acidi�cation

C. Chlorination

D. Reduction

Answer: A

Watch Video Solution

60. The geometry of  according to valence shell electron pair

repulsion theory will be

ClO−
3

https://dl.doubtnut.com/l/_ceWC0yGmPV5h
https://dl.doubtnut.com/l/_zruP9FSrS03A
https://dl.doubtnut.com/l/_2wkaqGxXZnL7


A. Planar triangle

B. Pyramidal

C. Tetrahedral

D. Square planar.

Answer: B

Watch Video Solution

61. Sigma bond between  and  in  is formed by ----

overlapping

A. 

B. 

C. 

D. 

CI O CIO
−
4

sp2 − p

sp2 − s

sp3 − s

sp3 − p

https://dl.doubtnut.com/l/_2wkaqGxXZnL7
https://dl.doubtnut.com/l/_Mt5703FRnAvN


Answer: D

Watch Video Solution

62. Shape and bond angle in  ion is

A. Planar trigonal , 

B. Tetrahedral , 

C. Pyramidal 

D. V- shape , 

Answer: B

Watch Video Solution

ClO
−
4

1090281

1090281

, 1050

1180

63. The number of  bonds in  ion isπ ClO
−
4

https://dl.doubtnut.com/l/_Mt5703FRnAvN
https://dl.doubtnut.com/l/_3Gr4U3PZrRWy
https://dl.doubtnut.com/l/_JWDk3cRa2R16


A. 2

B. 3

C. 4

D. 1

Answer: B

Watch Video Solution

64. The number of lone pairs on Chlorine atom in

 ions are 

A. 0,1,2,3

B. 1,2,3,4

C. 4,3,2,1

D. 3,2,1,0

CIO− , CIO−
2 , CIO−

3 , ClO−
4

https://dl.doubtnut.com/l/_JWDk3cRa2R16
https://dl.doubtnut.com/l/_FTuuuGkvLwum


Answer: D

Watch Video Solution

65. The order of  bond energy in 

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Cl − O

ClO− , ClO−
2 , ClO−

3 , CIO−
4

ClO− > ClO−
2 > ClO−

3 > ClO
−
4

ClO
−
4 > ClO−

3 > ClO−
2 > ClO−

ClO
−
4 > ClO−

2 > ClO−
3 > ClO−

ClO−
3 > ClO− > ClO−

2 > ClO
−
4

66.  undergoes hydrolysis then the products formed areBrF5

https://dl.doubtnut.com/l/_FTuuuGkvLwum
https://dl.doubtnut.com/l/_PFJZ9G0sinqe
https://dl.doubtnut.com/l/_29U37jdb5Ntt


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

HBrO2, HF

HOBr, HF

HBrO3, HF

HBrO4, HF

67. When pt dissolved in aquaregia the complex formed is

A. 

B. 

C. 

D. 

Answer: B

PtCl4

PtCl2 −
6

PtCl−
6

PtCl
−
4

https://dl.doubtnut.com/l/_29U37jdb5Ntt
https://dl.doubtnut.com/l/_FqRZACUQ88JN


Watch Video Solution

68. What products are expected from the disproportionation

reaction of hypochlorous acid ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

HClO3 and Cl2O

HClO2 and HClO4

HCl and Cl2O

HCl and HClO3

69.  in  undergoes ....... hybridisation 

A. 

Cl ClO−

sp2

https://dl.doubtnut.com/l/_FqRZACUQ88JN
https://dl.doubtnut.com/l/_G4gjlHiXVXMG
https://dl.doubtnut.com/l/_WWcRZDvt0kaL


B. 

C. 

D. 

Answer: B

Watch Video Solution

sp3

sp3d

sp3d2

70. What is the oxidation state of chlorine in hypochlorous acid?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

+7

+5

+3

+1

https://dl.doubtnut.com/l/_WWcRZDvt0kaL
https://dl.doubtnut.com/l/_duIObYv7CEsW


71. Which of the following is not a peroxy acid?

A. Perphosphoric Acid

B. Pernitric Acid

C. Perdisulphuric Acid

D. Perchloric Acid

Answer: D

Watch Video Solution

72. Thermally most stable oxide is

A. HOClO3

B. HOClO2

https://dl.doubtnut.com/l/_duIObYv7CEsW
https://dl.doubtnut.com/l/_QVaScyTDQeTi
https://dl.doubtnut.com/l/_NZVuLRIecwyH


C. HOCl

D. HOClO

Answer: A

Watch Video Solution

73.  is an example of

A. Oxidation reaction

B. Reduction reaction

C. Decomposition reaction

D. Disproportionation reaction

Answer: D

Watch Video Solution

4ClO−
3 ( aq )

→ 3ClO−
4 ( aq )

+ Cl−
( aq )

https://dl.doubtnut.com/l/_NZVuLRIecwyH
https://dl.doubtnut.com/l/_gTDKa1XDMB0n
https://dl.doubtnut.com/l/_k0eBZw7YY6da


74. Which of the following inter-halogen compounds does not exist

? 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

IF7

ClF3

ICl

BrCl7

75. Halogens combine among themselves to form covalent

compounds which are called 

A. Pseudohalides

B. Interhalogen compounds

https://dl.doubtnut.com/l/_k0eBZw7YY6da
https://dl.doubtnut.com/l/_NgNymD19IJHL


C. Polyhalides

D. None of these

Answer: B

Watch Video Solution

76. The halogen forming largest number of inter-halogens is

A. F

B. Cl

C. Br

D. I

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_NgNymD19IJHL
https://dl.doubtnut.com/l/_thuKKKRCt8RW
https://dl.doubtnut.com/l/_SrunFXg1tF7q


77. T' shaped interhalogen is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ICl

ClF3

BrF5

IF7

78. Charge distribution in iodine monochloride is best represented

as

A. 

B. 

I +Cl−

I δ−Clδ−

https://dl.doubtnut.com/l/_SrunFXg1tF7q
https://dl.doubtnut.com/l/_W7Yj7HctaaXQ


C. 

D. 

Answer: B

Watch Video Solution

I −Cl+

I δ−Clδ+

79. The interhalogen which does not exist is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

IF5

ClF3

BrCl

ICl4

https://dl.doubtnut.com/l/_W7Yj7HctaaXQ
https://dl.doubtnut.com/l/_yzNlGaDrfVx7


Objective Exercise 2

1. The electronic con�guration of an element is . It is most

likely to form 

A. Anion only

B. Cation only

C. Either cation or anion

D. Neither cation nor anion

Answer: A

Watch Video Solution

1s22s22p5

2. Chlorine atom, ini its third excited state, react with �uorine to

form compound X. the formula and shape of X are

https://dl.doubtnut.com/l/_2KkMMJ7nP9OA
https://dl.doubtnut.com/l/_iuCd4MOKYqjT


A. , Pentagonal

B.  , Tetrahedral

C. , Pentagonal bipyramidal

D.  Pentagonal bipyramidal

Answer: D

Watch Video Solution

ClF5

ClF4

ClF4

ClF7

3. The highest oxidation state of �uorine is

A. 

B. 

C. 0

D. 

Answer: C

−1

+1

+2

https://dl.doubtnut.com/l/_iuCd4MOKYqjT
https://dl.doubtnut.com/l/_2bs873HIA6yY


Watch Video Solution

4. When halogen (except ) is passed through alkali in di�erent

conditions, the halogen undergoes

A. oxidation only

B. reduction only

C. both oxidation and reduction

D. neither oxidation nor reduction

Answer: C

Watch Video Solution

F2

5. The gases liberated during the electrolysis of aqueous solution of

hydrogen �uoride 

https://dl.doubtnut.com/l/_2bs873HIA6yY
https://dl.doubtnut.com/l/_stkYhysXTDgR
https://dl.doubtnut.com/l/_iL2987CCV8lT


A. 

B. 

C. 

D. Can nor be electrolysed

Answer: A

Watch Video Solution

H2 and O2

H2 and F2

O2 and F2

6.   

The correct match is

A. 

B. 

List I List II

Property Order

(A) M.Pts (1)I2 < Br2 < F2 < Cl2

(B) B.Pts (2)Cl > F > Br > I

(C) Electron affinity (3)Cl2 > Br2 > F2 > I2

(D) Bond dissociation energy (4)F2 > Cl2 > I2 > Br2

A B C D

5 5 2 3

A B C D

2 5 3 4

https://dl.doubtnut.com/l/_iL2987CCV8lT
https://dl.doubtnut.com/l/_19MgzZX4EcgU


C. 

D. 

Answer: A

Watch Video Solution

A B C D

1 2 3 4

A B C D

5 2 3 4

7. Which of the following statements about halogens is correct?

A. All are diatomic and forms univalent ion

B. All are capable of exhibiting several oxidation states

C. All are diatomic and form divalent ions

D. They can solution of their compounds with metals

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_19MgzZX4EcgU
https://dl.doubtnut.com/l/_GhuyH69As3Bi
https://dl.doubtnut.com/l/_LtkfV7UrxPOF


8. Sulphur reacts with chlorine in 1 : 2 ratio and forms X. Hydrolysis

of X gives a sulphur compound Y. What is the hybridisation state of

central atom in the anion of Y ? 

A. 

B. sp

C. 

D. 

Answer: A

Watch Video Solution

sp3

sp2

sp3d

9. In which of the following molecules, sigma bonds formed by the

overlap of  orbitals are absent ? 

A. 

sp3d and P

PCl5

https://dl.doubtnut.com/l/_LtkfV7UrxPOF
https://dl.doubtnut.com/l/_kSVsuVv2khMn


B. 

C. 

D. 

Answer: D

Watch Video Solution

ClF4

SbCl5

HClO4

10. The correct order of the thermal stability of hydrogen halide (H -

X) is 

A. 

B. 

C. 

D. 

Answer: B

HI > HBr > HCl > HF

HF > HCl > HBr > HI

HCl > HF > HBr > HI

HI > HCl > HF > HBR

https://dl.doubtnut.com/l/_kSVsuVv2khMn
https://dl.doubtnut.com/l/_W7GiGVPqOSS9


Watch Video Solution

11. The order of melting point , boiling point and densities of

halogens

A. Gradually decreases from  to 

B. Gradually increases from 

C. Decreases from to  and then increases

D. Increases from  to  and then decreases

Answer: B

Watch Video Solution

F2 I2

F2 → I2

F2 Br2

F2 Br2

12. Which of the following species has four lone pairs of electrons in

its valance shell ?

https://dl.doubtnut.com/l/_W7GiGVPqOSS9
https://dl.doubtnut.com/l/_2kbEh9S1t7B4
https://dl.doubtnut.com/l/_4PeTfehpFmcd


A. I

B. 

C. 

D. He

Answer: C

Watch Video Solution

O−

Cl−

13. Which of the following is not correct regarding bond energies

A. The extent of overlap of the atomic orbitals decreases as the

size of the atoms increase

B. Among the halogens the bond energy of  is abnormally

high (159 KJ 

F2

mole− 1)

https://dl.doubtnut.com/l/_4PeTfehpFmcd
https://dl.doubtnut.com/l/_WxMuHId6EyEX


C. The  molecule it self has a notorisously weak bond 

 compared with chlorine 

D. According Mulliken  bonding is not possible in

�uorine

Answer: B

Watch Video Solution

F2

159KJmole− 1) 243KJmole− 1

pπ − dπ

14. Fluorine is a stronger oxidising agent than chlorine in aqueous

solution . This is attributed to many factors except

A. Heat of dissociation

B. Electron a�nity

C. Ionization potential

D. Heat of hydration

https://dl.doubtnut.com/l/_WxMuHId6EyEX
https://dl.doubtnut.com/l/_CDtmsYW8wVcA


Answer: C

Watch Video Solution

15. Easiest to perform in the following is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

F2 ( g ) + 2e− → 2F −
( g )

Cl2 ( g ) + 2e− → 2Cl−
( g )

Br2 ( g ) + 2e− → 2Br−
( g )

I2 ( g ) + 2e− → 2I −
( g )

16. Hydrogen bonding does not play any role in boiling of 

https://dl.doubtnut.com/l/_CDtmsYW8wVcA
https://dl.doubtnut.com/l/_uN8qY4nELSKB
https://dl.doubtnut.com/l/_KTytjVGLvOBF


A. 

B. 

C. HI

D. 

Answer: C

Watch Video Solution

NH3

H2O

C2H5OH

17. Bond dissociation energies of HF, HCl, HBr follow the order

A. 

B. 

C. 

D. 

Answer: C

HCl > HBr > HF

HF > HBr > HCl

HF > HCl > HBr

HBr > HCl > HF

https://dl.doubtnut.com/l/_KTytjVGLvOBF
https://dl.doubtnut.com/l/_7pgciqChUwxl


Watch Video Solution

18. Which of the following reaction does not takes place. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

F2 + 2Cl− → 2F − 1 + Cl2

Br2 + 2I − → 2Br− + I2

Cl2 + 2F − → 2Cl− + F2

Cl2 + 2Br− → 2Cl− + Br2

19. Which of the following shows variation of BE of halogens

https://dl.doubtnut.com/l/_7pgciqChUwxl
https://dl.doubtnut.com/l/_mXH0Kj6NnJJb
https://dl.doubtnut.com/l/_fwK2JqgbVCB3


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_fwK2JqgbVCB3
https://dl.doubtnut.com/l/_ZaWuXjeitas0


20. In the reaction

A. Bromine is oxidised and carbonate is reduced

B. Bromine is both oxidised and reduced

C. Bromine is reduced and water is oxidised

D. Bromine is neither oxidised nor reduced

Answer: B

Watch Video Solution

3Br2 + 6CO2 −
3 + 3H2O → Br− + BrO3 + 6HCO+

3

21. Which one of the following ion has the highest value of ionic

radius?

A. 

B. 

Li+

B3 +

https://dl.doubtnut.com/l/_ZaWuXjeitas0
https://dl.doubtnut.com/l/_ckGJrrSktD3J


C. 

D. 

Answer: C

Watch Video Solution

O2 −

F −

22. Poor conductor of electricity is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

aq. H2F2

aq. HCl

aq. HBr

aq. Hi

https://dl.doubtnut.com/l/_ckGJrrSktD3J
https://dl.doubtnut.com/l/_EIajdPo6YQZx
https://dl.doubtnut.com/l/_AxbAnkzCHhJ3


23. No gas is liberated when the following HX is treated with

A. HCl

B. HF

C. HBr

D. HI

Answer: B

Watch Video Solution

MnO2 and con. H2SO4

24. Which of the following does not form precipitate with  ?

A. HF

B. HCl

AgNO3

https://dl.doubtnut.com/l/_AxbAnkzCHhJ3
https://dl.doubtnut.com/l/_UjYqEixeqpFO


C. HBr

D. HI

Answer: A

Watch Video Solution

25. Which redical can bring about the highest oxidation state of a

transition metal ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Br−

Cl−

F −

I −

https://dl.doubtnut.com/l/_UjYqEixeqpFO
https://dl.doubtnut.com/l/_flHlfhYPXtGz


26. I) Fluorine reacts with cold , dilute alkalies liberating  gas. 

II) Chlorine reacts with hot ,conc . Alkalies to form chlorides and

chlorates . 

III) Bromine reacts with cold ,dil .alkali to form bromide and

hypobromite 

The correct combination is

A. Only I & II are correct

B. Only II and III are correct

C. Only I and III are correct

D. Only III is correct

Answer: B

Watch Video Solution

O2

https://dl.doubtnut.com/l/_flHlfhYPXtGz
https://dl.doubtnut.com/l/_LOmdDaO6OptQ


27. Which of the following statements is correct about halogens ?

A. They are all capable of exhibiting more than one oxidation

states

B. They are all diatomic and form diatomic ions

C. They are all diatomic and form univalent ions

D. They are all reducing agents .

Answer: C

Watch Video Solution

28.  acts as an oxidising agent in alkaline medium, when

alkaline  is treated with KI, iodine ion is oxidised to

A. 

KMnO4

KMnO4

I2

https://dl.doubtnut.com/l/_OWVeQ6x2unLf
https://dl.doubtnut.com/l/_KxzpIxRGFpKa


B. 

C. 

D. 

Answer: C

Watch Video Solution

IO−

IO−
3

IO
−
4

29. Gaseous HCl is a poor conductor of electricity while its aqueous

solution is a good conductor this is because

A.  is a good conductor of electricity

B. Agas cannot conduct electricity but a liquid can

C. HCl gas does not obay Ohm's law ,where as the solution does

D. HCl ionises in aqueous solution

Answer: D

H2O

https://dl.doubtnut.com/l/_KxzpIxRGFpKa
https://dl.doubtnut.com/l/_fsEGZrIxYrfp


Watch Video Solution

30. Concentrated hydrochloric acid when kept in open air

sometimes produces a could of white fumes. The explanation for it

is that

A. Oxygen in air reacts with the emitted HCl gas to form a cloud

of chlorine gas

B. Strong a�nity of Hcl gas for moisture in air results in forming

of droplets of liquid solution which appears like a cloudy

smoke .

C. Due to strong a�nity for water , concentrated hydrochloric

acid pulls moisture of air towards itself . This moisture forms

droplets of water .

https://dl.doubtnut.com/l/_fsEGZrIxYrfp
https://dl.doubtnut.com/l/_BcY8juFiUVOO


D. Concentrated hydrochloric acid emits strongly smelling HCl

gas all the time

Answer: C

Watch Video Solution

31. Which statement is incorrect

A. Chlorine can bleach a wet piece of cloth

B. Chlorine in water gives HOCl

C. Bromine can be prepared from carnalite

D. Bromine is not liberated when iodine is passed through an

acidi�ed KBr solution

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_BcY8juFiUVOO
https://dl.doubtnut.com/l/_WMQu8G9VRBty


32. Which of the following is used in the preparation of chlorine ?

A. Only 

B. Only 

C. Both 

D. Either  or 

Answer: D

Watch Video Solution

MnO2

KMnO4

MnO2 and KMnO4

MnO2 KMnO4

33. Consider the following reaction 

. What is the

oxidation number of chlorine in "A"? 

A. 

6NaOH ( Hot. Conc. ) + 3Cl2 → 5NaCl + A + 3H2O

+5

https://dl.doubtnut.com/l/_WMQu8G9VRBty
https://dl.doubtnut.com/l/_WHjX5qWFTFRe
https://dl.doubtnut.com/l/_SmSkhMokCbk3


B. 

C. 

D. 

Answer: C

Watch Video Solution

−1

+3

+4

34. A halogen (x) reacts with sulphur gives a compound (y) .(y)

reacts with ethylene to give Mustard gas . Then

A. 

B. 

C. 

D. 

Answer: A

x = Cl2, y = S2Cl2

x = Cl2, y = SCl4

x = Cl2, y = S2Cl

x = Br2, y = SCl2

https://dl.doubtnut.com/l/_SmSkhMokCbk3
https://dl.doubtnut.com/l/_mlgLD7xpUaEE


Watch Video Solution

35. If  gas is passed into aqueous solution of KI containing some

 and the mixtures is shaken

A. upper layer become violet

B. homogeneous violet layer is formed

C. organge colour appears

D. lower layer beomes violet

Answer: D

Watch Video Solution

Cl2

CCl4

36. (excess)  , the bonds present in

compound A is

NH3 +3C < oA + N2 ↑

https://dl.doubtnut.com/l/_mlgLD7xpUaEE
https://dl.doubtnut.com/l/_xinAUnOD5tEb
https://dl.doubtnut.com/l/_LQ0jXiAIsrY3


A. Ionic , covalent and dative

B. Ionic and covalent

C. Dative and ionic

D. Dative only

Answer: A

Watch Video Solution

37. Chlorine reacts with nitric oxide to form

A. 

B. 

C. 

D. 

Answer: B

NOCl2

NOCl

NO2Cl2

NO2Cl

https://dl.doubtnut.com/l/_LQ0jXiAIsrY3
https://dl.doubtnut.com/l/_5U9DtniacCPS


Watch Video Solution

38. When  reacts with Fe (or) Cu it does not form

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Cl2

FeCl2

CuCl

FeCl3 and CuCl2

FeCl2 and CuCl

39. In the reaction  is 

A. 

2Br− + X2 → Br2 + 2X − , X2

Cl2

https://dl.doubtnut.com/l/_5U9DtniacCPS
https://dl.doubtnut.com/l/_CHu9kjpSyHfR
https://dl.doubtnut.com/l/_r0qU3dAGycpV


B. 

C. 

D. 

Answer: A

Watch Video Solution

Br2

I2

N2

40. The Incorrect statement regarding Nelson cell process

A.  are the by products in this process

B. At anode  liberated

C.  at cathode

D. Hydrogen chloride is oxidised to give chlorine

Answer: D

Watch Video Solution

H2 and NaOH

2Cl− → 2e− + Cl2

2H2O + 2e− → H2 + 2OH −

https://dl.doubtnut.com/l/_r0qU3dAGycpV
https://dl.doubtnut.com/l/_UhRIsuop6Hq8


41. Hydrochloric acid at  is

A. Ionic and liquid

B. Covalent and liquid

C. Ionic and gas

D. None of above

Answer: A

Watch Video Solution

25∘C

42. Chlorine is passed into dilute, cold KOH solution. What are the

oxidation numbers of chlorine in the products formed ? 

A. −1 and + 5

https://dl.doubtnut.com/l/_UhRIsuop6Hq8
https://dl.doubtnut.com/l/_xa4bM5SfZu3o
https://dl.doubtnut.com/l/_PPcq8v0q7J5k


B. 

C. 

D. 

Answer: D

Watch Video Solution

−1 and + 3

+1 and + 7

+1 and − 1

43. Which of the following reactions represent Deacon's process ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4HCl + O2

CuCl2
−−−→ 2Cl2 + 2H2O

2H2O + 2Cl2
Sunlight
−−−−→ 4HCl + O2

4NH3 + 5O2

Rh gauge
−−−−→ 4NO + 6H2O

2SO2 + O2

V2O5

−−→ 2SO3

https://dl.doubtnut.com/l/_PPcq8v0q7J5k
https://dl.doubtnut.com/l/_eFh0KBCVjubM


44. Select the most stable structure of 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

COCl2

https://dl.doubtnut.com/l/_eFh0KBCVjubM
https://dl.doubtnut.com/l/_XpynX1TXI3ws


45. Oxyacid of chlorine with  state of the central atom is 

A. hypochlorous acid

B. chlorous acid

C. chloric acid

D. Perchloric Acid

Answer: C

Watch Video Solution

+5

46. Which one of the following pairs of reactants does not form

oxygen, when they react with each other ?

A.  solution (hot , conc)

B. 

F2, NaOH

F2, H2O

https://dl.doubtnut.com/l/_XpynX1TXI3ws
https://dl.doubtnut.com/l/_LU2L9xm4gjCZ
https://dl.doubtnut.com/l/_773W8kcBqaO4


C.  solution (cold , dilute)

D.  (dilute , small amount)

Answer: C

Watch Video Solution

Cl2, NaOH

CaOCl2, H2SO4

47. T' shaped interhalogen is

A. IC l

B. 

C. 

D. 

Answer: B

Watch Video Solution

ClF3

BrF5

IF7

https://dl.doubtnut.com/l/_773W8kcBqaO4
https://dl.doubtnut.com/l/_JkgljtOEcG4x
https://dl.doubtnut.com/l/_bNjJp0j2BrRS


48. Most unstable among the following is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ClO
−
4

ClO−
3

ClO−
2

OCl−

49. The aqeous solution of which of the following salt will have the

lowest pH ?

A. 

B. 

NaClO

NaClO2

https://dl.doubtnut.com/l/_bNjJp0j2BrRS
https://dl.doubtnut.com/l/_CyCOAraLLCe1


C. 

D. 

Answer: D

Watch Video Solution

NaClO3

NaClO4

50.  In the above balanced

chemical equation, number of moles of  reduced to bromide is

A. 1.5

B. 2.5

C. 3

D. 5

Answer: B

Watch Video Solution

Br2 + NaOH → NaBrO3 + H2O

Br2

https://dl.doubtnut.com/l/_CyCOAraLLCe1
https://dl.doubtnut.com/l/_uhdNXrDgsB7F


51. The correct order of acedic strength of the following compounds

is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

HClO > HClO2 > HClO3 > HClO4

HClO4 > HClO3 > HClO2 > HClO

HClO2 > HClO > HClO3 > HClO4

HClO4 > HClO2 > HClO3 > HClO

52. Correct trends from  to  are  

A) Oxidation ability decreases 

B) Number of delocalised electrons increases 

ClO− ClO
−
4

https://dl.doubtnut.com/l/_uhdNXrDgsB7F
https://dl.doubtnut.com/l/_CjBpsKFdvewv
https://dl.doubtnut.com/l/_weD0ecBul8MQ


C) Number of lone electron pairs on chlorine decreases 

D) O- Cl bond length decreases

A. A,B,C only

B. B,C,D only

C. A,C,D only

D. A,B,C and D

Answer: D

Watch Video Solution

53.  

, 

  

Substances Y and Z are respectively

A. 

Cl2 ( g ) + Ba(OH)2 → X ( aq ) + BaCl2 + H2O

X + H2SO4 → Y + BaSO4

Y
Δ

−−−−→
Δ 365K

Z + H2O + O2

HClO4, ClO2

https://dl.doubtnut.com/l/_weD0ecBul8MQ
https://dl.doubtnut.com/l/_a7yq2GgTKBKX


B. 

C. 

D. 

Answer: B

Watch Video Solution

HClO3, ClO2

HClO3, ClO6

HClO4, Cl2O7

54.  is an example of

A. Oxidation reaction

B. Reduction reaction

C. Disproportionation reaction

D. Decomposition reaction

Answer: C

Watch Video Solution

4ClO−
3 ( aq )

→ 3ClO−
4 ( aq )

+ Cl−
( aq )

https://dl.doubtnut.com/l/_a7yq2GgTKBKX
https://dl.doubtnut.com/l/_yZ6HYu5g3Oaa


55. The compound in which the number of  bonds are equal

to those present in 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

dπ − pπ

ClO
−
4

XeF4

XeO3

XeO4

XeF6

56. Among the following ion the one that cannot undergo

disproportionation

A. ClO−
4

https://dl.doubtnut.com/l/_yZ6HYu5g3Oaa
https://dl.doubtnut.com/l/_z1mpKAZAX7Gw
https://dl.doubtnut.com/l/_m0xl8tVueTNl


B. 

C. 

D. 

Answer: A

Watch Video Solution

ClO−
3

ClO−
2

ClO−

57. Which of the following is not the characteristic of interhalogen

compounds ?

A. They are more reactive than halogens

B. They are quite unstable but none of them is explosive

C. They are covalent in nature

D. They have low boiling points and are highly volatile.

Answer: D

https://dl.doubtnut.com/l/_m0xl8tVueTNl
https://dl.doubtnut.com/l/_G39hDhXGQeem


Watch Video Solution

58. Which of the following is not correct regarding the interhalogen

compound bromine penta�uoride

A. It is formed in �fth excited state of bromine

B. Oxidation number of bromine is 

C. Hybridisation of bromine is 

D. It has square monopyramidal structure

Answer: A

Watch Video Solution

+5

sp3d2

59. Interhalogen compounds are more reactive than the constituent

halogens except �uorine - Explain.

https://dl.doubtnut.com/l/_G39hDhXGQeem
https://dl.doubtnut.com/l/_rTnnAEwRfBXe
https://dl.doubtnut.com/l/_w8LNla8EYOhm


A. Two halogens present in place of one

B. They are more ionic

C. Their bond polarity is more than that of the halogen molecule

D. They carry more energy

Answer: C

Watch Video Solution

60. Only iodine forms hepta -�uoride , but chlorine and bromine

give penta -�uorides.The reason for this is

A. low electron a�nity of iodine

B. unsual pentagenal bipyramidal structure of 

C. that the larger iodine atom can accommodate more number

of smaller �uorine atom around it

IF7

IF7

https://dl.doubtnut.com/l/_w8LNla8EYOhm
https://dl.doubtnut.com/l/_GKC5wp1MxIy0


Objective Exercise 3

D. low chemical reactivity of 

Answer: C

Watch Video Solution

IF7

1. Which one of the following orders is not in accordance with the

property stated against it?

A. : Bond dissociation energy

B.  : Oxidising power

C. : Acidic property in water

D. : Electronegativity

Answer: A

F2 > Cl2Br2 > I2

F2 > Cl2 > Br2 > I2

HI > HBr > HCl > HF

F > Cl > Br > I

https://dl.doubtnut.com/l/_GKC5wp1MxIy0
https://dl.doubtnut.com/l/_HN3dxOPEiOGf


Watch Video Solution

2. The correct order of acedic strength of the following compounds

is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

HClO4 < HClO3 < HClO2 < HClO

HClO < HClO2 < HClO3 < HClO4

HClO4 < HClO < HClO2 < HClO3

HClO2 < HClO3 < HClO4 < HClO

3. The correct order of bond angles in the following species is

A. Cl2O < ClO2 < ClO−
2

https://dl.doubtnut.com/l/_HN3dxOPEiOGf
https://dl.doubtnut.com/l/_9n1l0VVmDq8z
https://dl.doubtnut.com/l/_hqI9M4qqPzuu


B. 

C. 

D. 

Answer: C

Watch Video Solution

ClO2 < Cl2O < ClO−
2

Cl2O = ClO−
2 < ClO2

ClO−
2 < Cl2O < ClO2

4. Which of the following is the strongest oxidising agent?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Br2

I2

Cl2

F2

https://dl.doubtnut.com/l/_hqI9M4qqPzuu
https://dl.doubtnut.com/l/_HvKaHHPqzbYC


5. In which of the following arrangements the given sequence is not

strictly according to the property indicated against it ?

A. : increasing acidic strength

B. : increasing  values

C. : increasing reducing

character

D.  : increasing oxidising power

Answer: B

Watch Video Solution

HF < HCl < HBr < HI

H2O < H2S < H2Se < H2Te pKa

NH3 < PH3 < AsH3 < SbH3

CO2 < SiO2 < SnO2 < PbO2

6. Which of the following is the strongest acid ?

https://dl.doubtnut.com/l/_HvKaHHPqzbYC
https://dl.doubtnut.com/l/_KgfLhGXe4IzB
https://dl.doubtnut.com/l/_dvIiMV1kdIP4


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

HClO4

H2SO3

H2SO4

HClO3

7. Which of the statements given below is incorrect ?

A.  molecule is bent

B. ONF is isoelectronic with 

C.  is an oxide of �uorine

D.  is an anhydride of perchloric acid

Answer: A

SO2

O2N
−

OF2

Cl2O7

https://dl.doubtnut.com/l/_dvIiMV1kdIP4
https://dl.doubtnut.com/l/_e5wQO0QTKaVH


Watch Video Solution

8. Correct order of boiling points of hydrogen halides is

A. There is strong hydrogen bonding between HF molecules

B. The bond energy of HF molecules is greater than in other

hydrogen halides

C. The e�ect of nuclear shielding is much reduced in �uorine

which polarises the HF molecule

D. The electronegativity of �uorine is much higher than for other

elements in the group

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_e5wQO0QTKaVH
https://dl.doubtnut.com/l/_EmTCM6y8XLmK


9. Give the bond dissociation order of halogens.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Br2 > I2 > F2 > Cl2

F2 > Cl2 > Br2 > I2

I2 > Br2 > Cl2 > F2

Cl2 > Br2 > F2I2

10.  and  both when dissolved in water containing  ions

the pair of species formed

A. 

B. 

HgCl2 I2 I −

Hg2I2, I −

Hg2I2, I −
3

https://dl.doubtnut.com/l/_3fomhPwP5CW9
https://dl.doubtnut.com/l/_HHF14uRHVRGC


C. 

D. 

Answer: D

Watch Video Solution

HgI2, I −

HgI
2 −
4 , I −

3

11. Match the interhalogen compounds of column I with the

geometry in column II and assign the correct 

A. 

B. 

C. 

Column I Column II 

XX' T-shap

XX3' Pentagonal bipyramidal

XX5 Linear

XX7 Square -pyramidal

Tetrahedral

a b c d

iv iii ii i

a b c d

iii iv i ii

a b c d

iii i iv ii

https://dl.doubtnut.com/l/_HHF14uRHVRGC
https://dl.doubtnut.com/l/_c2znE2Ajvg6C


D. 

Answer: C

Watch Video Solution

a b c d

iv iv iii ii

12. Which of the following statements is not true for halogens ?

A. All but �uorine show positive oxidation states

B. MI are oxidizing agents

C. All form monobasic oxyacids

D. Chlorine has the highest electron -gain enthalpy

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_c2znE2Ajvg6C
https://dl.doubtnut.com/l/_JJslRxNMxIkh


Objective Exercise 4

1. (A): The bond dissociation energy of �uorine is less than bromine. 

(R): In �uorine molecule, large lone pair electronic repulsions and

appreciable internuclear repulsions are present.

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Xd8yaO9RJiNe
https://dl.doubtnut.com/l/_Kz1WAuJqtNxc


2. (A): Reaction given below is possible 

  

(R): lighter halogen displaces larger halogen from its metal halides .

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: D

Watch Video Solution

2KCI + Br2 → Cl2 + 2KBr

3. (A): Electron a�nity of �uorine is lower than that of chlorine 

(R): Fluorine has small and compact size and stronger inter electron

https://dl.doubtnut.com/l/_Kz1WAuJqtNxc
https://dl.doubtnut.com/l/_vEcuklrt2GK3


repulsion than chlorine.

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

4. (A):  bond length decreases from  to   

(R):  bond order increases from  to . 

Cl − O CIO− ClO
−
4

CI − O CIO− CIO
−
4

https://dl.doubtnut.com/l/_vEcuklrt2GK3
https://dl.doubtnut.com/l/_Vqyqg3oksg53


A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

5. (A): Bromine does not displace chlorine from its salt solution 

(R): Chlorine is displaced from its oxysalt by bromine

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

https://dl.doubtnut.com/l/_Vqyqg3oksg53
https://dl.doubtnut.com/l/_MY7Wwq2WYZ8L


B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: B

Watch Video Solution

6. (A) : lodine is the only halogen that is naturally available in

positive oxidation states 

(R): Iodine is slightly electropositive among halogens .

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

https://dl.doubtnut.com/l/_MY7Wwq2WYZ8L
https://dl.doubtnut.com/l/_E6L48yjj76GB


B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

7. (A) : Chlorine acts as a bleaching agent in the presence of

moisture 

(R) : Chlorine forms hypochlorous acid in the presence of moisture.

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

https://dl.doubtnut.com/l/_E6L48yjj76GB
https://dl.doubtnut.com/l/_u03s5j51N1XF


B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

8. (A): HBr is stronger acid than HI. 

(R) : Bromine is more electronegative than iodine.

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

https://dl.doubtnut.com/l/_u03s5j51N1XF
https://dl.doubtnut.com/l/_9mDLcJioe3TM


C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: D

Watch Video Solution

9. (A): Iodine displaces bromine from   

(R): Iodine is strong oxidizing agent than bromine. 

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

KBrO3

https://dl.doubtnut.com/l/_9mDLcJioe3TM
https://dl.doubtnut.com/l/_Ex8Q6gtMp4dQ


Answer: C

Watch Video Solution

10. (A)  on heating in the presence of  gives 

 

(R ) Conversion of  to  is called

disproportionation

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: B

OX − OH −

X − and XO−
3 (X = Cl, Br, I, )

OX − X and XO−
3

https://dl.doubtnut.com/l/_Ex8Q6gtMp4dQ
https://dl.doubtnut.com/l/_rFD8JE9KfpX5


Watch Video Solution

11. (A) : Chlorine is gas, bromine is liquid and iodine is solid 

(R) : Intermolecular attraction forces increase upon increase in

molecular masses .

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_rFD8JE9KfpX5
https://dl.doubtnut.com/l/_H5IJ7nTZoZLK
https://dl.doubtnut.com/l/_4Hg0BrTK66kE


12. (A): Hydrogen iodide is most stable among hydrogen halides 

(R): Iodide is most powerful reductant among halides. 

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: D

Watch Video Solution

13. (A): Oxidation ability increases from  to   

(R): Oxidation number of chlorine increases from  to 

HOCI HCIO4

HOCI HCIO4

https://dl.doubtnut.com/l/_4Hg0BrTK66kE
https://dl.doubtnut.com/l/_gzmgXWX1RfsG


. 

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: D

Watch Video Solution

14. (A) Aqueous �uoride on electrolysis at inertanode liberates

oxygen 

(R ) Fluorine reacts vigorously with water to liberate oxygen

https://dl.doubtnut.com/l/_gzmgXWX1RfsG
https://dl.doubtnut.com/l/_L3lAJDp4skBp


A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: B

Watch Video Solution

15. (A): Fluorine does not form oxyacids 

(R): Electronegativity of �uorine is higher than that of oxygen.

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

https://dl.doubtnut.com/l/_L3lAJDp4skBp
https://dl.doubtnut.com/l/_IYFFtUzZIYvK


B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

16. (A): lodine appears in violet colour. 

(R): Iodine absorbsviolet part of electro magnetic radiation .

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

https://dl.doubtnut.com/l/_IYFFtUzZIYvK
https://dl.doubtnut.com/l/_EmO4RboVZn6L


C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: C

Watch Video Solution

17. (A) :Among hydrogen halides, hydrogen �uoride is least volatile. 

(R): Hydrogen �uoride molecules are associated with hydrogen

bonding.

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

https://dl.doubtnut.com/l/_EmO4RboVZn6L
https://dl.doubtnut.com/l/_lsMk2LmEmqJ1


D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

18. (A) HClO is stronger acid than HBrO 

(R ) Greater is the electronegativity of the halogen , greater will be

attraction of electron pair towards it and hence more easily the

 ion will be released.

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

H +

https://dl.doubtnut.com/l/_lsMk2LmEmqJ1
https://dl.doubtnut.com/l/_cFRVsYtJB0F3


Answer: A

Watch Video Solution

19. (A) : Fluorine is the best oxidising agent 

(R ) SRP is highest for Fluorine

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_cFRVsYtJB0F3
https://dl.doubtnut.com/l/_0Uqlvfmm4o8l


20.  does not exist , though HOF is known  

(R ) HOF molecule does not ionise easily

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

OF −

https://dl.doubtnut.com/l/_0Uqlvfmm4o8l
https://dl.doubtnut.com/l/_AiDvMt4prJG0


21. (A) Halogens are coloured 

(R ) Colour is a characristic property of elements of d- block

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: B

Watch Video Solution

22. (A) Bond energy of  is less than that of   

(R ) Bond energy of  is less than that of 

Cl2 F2

Br2 F2

https://dl.doubtnut.com/l/_N8QR4Gqwt9Pb
https://dl.doubtnut.com/l/_HPJRPT8tkvpS


A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: D

Watch Video Solution

23. (A) Hydration energy of iodide is highest among halides 

(R ) Greater the size of halide , higher is the hydration energy

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

https://dl.doubtnut.com/l/_HPJRPT8tkvpS
https://dl.doubtnut.com/l/_nvU4U3jwiUO2


B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: D

Watch Video Solution

24. (A) Highest atomicity of an interhalogen compound is 8 

(R ) Highest valency exhibited by a halogen , other than �uorine is 7

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

https://dl.doubtnut.com/l/_nvU4U3jwiUO2
https://dl.doubtnut.com/l/_tZgU47ICRPqA


C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

25. (A) Fluoride is oxidised by managanese dioxide 

(R ) Manganese dioxide is reduced to mana

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

https://dl.doubtnut.com/l/_tZgU47ICRPqA
https://dl.doubtnut.com/l/_V6cIKYXnoGsX


Answer: D

Watch Video Solution

26. (A) Iodine is dissolved well in aqueous KI solution 

(R ) Iodine forms a complex tri -iodide ion in aqueous KI solution

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_V6cIKYXnoGsX
https://dl.doubtnut.com/l/_OGF2RLvO6PTp


27. (A) Compared to  is more reactive  

(R )  is non -polar ,but Icl is polar

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

Br2, Icl

Br2

https://dl.doubtnut.com/l/_OGF2RLvO6PTp
https://dl.doubtnut.com/l/_MaAMJ1zoMdvM


28. (A) Chlorine dioxide is paramagnetic 

(R ) Chlorine dioxide molecule has odd number of electrons

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

29. (A) F-F bond is stronger than Cl -Cl bond 

(R ) Atomic size of F is larger than that of Cl.

https://dl.doubtnut.com/l/_eIdIjLHlk2qS
https://dl.doubtnut.com/l/_QVV9GXQbiE9I


A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: D

Watch Video Solution

30. (A) Perhalate ions are tetrahedral in shape 

(R ) Halogens underdo  hybridization in perhalates

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

sp3

https://dl.doubtnut.com/l/_QVV9GXQbiE9I
https://dl.doubtnut.com/l/_7JvIPwzsUDjf


B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

31. (A) Iodine is least basic whereas �uorine is most basic , among

halogens 

(R ) The reactivity of halogens increases from �uorine to iodine

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

https://dl.doubtnut.com/l/_7JvIPwzsUDjf
https://dl.doubtnut.com/l/_we1wpZpIaISw


B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: D

Watch Video Solution

32.  shows disproportionation reactions  

(R )  is the weakest oxidising agent and it is always reduced.

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

F2

F2

https://dl.doubtnut.com/l/_we1wpZpIaISw
https://dl.doubtnut.com/l/_OVtQSw7izhdb


C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: D

Watch Video Solution

33. (A) The bleaching of �owers by chlorine is permanent while that

by  is temporary  

(R ) Chlorine bleaches by reduction and  by oxidation

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

SO2

SO2

https://dl.doubtnut.com/l/_OVtQSw7izhdb
https://dl.doubtnut.com/l/_FCCFyjPTtrP2


D. Both (A) and (R ) are false

Answer: C

Watch Video Solution

34. (A) Halogens have maximum negative electron gain enthalpy in

the respective periods of the periodic table 

(R ) Halogens have the smallest size in their respective periods and

high e�ective nuclear charge

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

https://dl.doubtnut.com/l/_FCCFyjPTtrP2
https://dl.doubtnut.com/l/_a0cBWWBvPAy2


Answer: A

Watch Video Solution

35. (A) Electron gain enthalpy of �uorine is less than chlorine but

�uorine is a strong oxidising agent than chlorine 

(R ) Fluorine has low enthalpy of dissociation and �uoride has high

hydration enthalpy

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

https://dl.doubtnut.com/l/_a0cBWWBvPAy2
https://dl.doubtnut.com/l/_lC0X269onMrU


Watch Video Solution

36. (A) Iodine does not react with water 

(R ) Reaction of iodine with water is non spontaneous

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_lC0X269onMrU
https://dl.doubtnut.com/l/_fSNN9enSNH0w


37. (A) Fluorine exhibits only -l oxidation state 

(R ) Fluorine is called super halogen

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: B

Watch Video Solution

38. (A) Among HX , HF is liquid while others are gases 

(R ) HF has strong hydrogen bond

https://dl.doubtnut.com/l/_rPDBDyXi9qP3
https://dl.doubtnut.com/l/_yVpyLnyvJx6c


A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

39. (A) In HX , stability decreases down the group 

(R ) Bond dissociation enthalpy oeder of HX is

H − F > H − Cl > H − Br > H − I

https://dl.doubtnut.com/l/_yVpyLnyvJx6c
https://dl.doubtnut.com/l/_llZaBR5QL6j0


A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

40. (A) Iodine oxides are more stable than chlorine and bromine

oxides 

(R ) Iodine is the solid halogen ,but chlorine and bromine are

gaseous and liquid halogens

https://dl.doubtnut.com/l/_llZaBR5QL6j0
https://dl.doubtnut.com/l/_1jfphtrpmNT7


A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: B

Watch Video Solution

41. (A)  is used for the estimation of carbon monoxide in

qualitative analysis 

(R )  is insoluble and decomposes on heating

I2O5

I2O5

https://dl.doubtnut.com/l/_1jfphtrpmNT7
https://dl.doubtnut.com/l/_LVtPTzHR3bs3


A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: B

Watch Video Solution

42. (A)  is more covalent than  

(R ) Compound with higher oxidation state of metal is more

covalent than with lower oxidation state

SnCl4 SnCl2

https://dl.doubtnut.com/l/_LVtPTzHR3bs3
https://dl.doubtnut.com/l/_wbJXUgymbFWX


A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

43. (A) Sea is the greatest source of some halogens 

(R ) Halogens are highly reactive

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

https://dl.doubtnut.com/l/_wbJXUgymbFWX
https://dl.doubtnut.com/l/_8LFlF5eOnfw3


B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: B

Watch Video Solution

44. (A) Aqueous solution of chlorine is a bleaching agent 

(R ) In presence of moisture ,chlorine liberates nascent oxygen

which remove the colour of organic matter

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

https://dl.doubtnut.com/l/_8LFlF5eOnfw3
https://dl.doubtnut.com/l/_T5mcuEUHF0Ed


B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

45. (A) Reaction of  with hot and concen -trated  is

disproportionation reaction 

(R ) Oxidation state of chlorine changed from 

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

Cl2 NaOH

0to − 1 and + 5

https://dl.doubtnut.com/l/_T5mcuEUHF0Ed
https://dl.doubtnut.com/l/_XQiDUqJOIbP8


B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

46. (A) The noble metals like gold ,platinum dissolved in aqua regia 

(R )  ratio of Conc HCl and Conc  is called aqua regia

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

3: 1 HNO3

https://dl.doubtnut.com/l/_XQiDUqJOIbP8
https://dl.doubtnut.com/l/_3YZn5dvJvqvM


C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: B

Watch Video Solution

47. (A) With HCl ,Fe forms   

(R ) Formed  prevents the formation of 

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

FeCl2 and H2

H2 FeCl3

https://dl.doubtnut.com/l/_3YZn5dvJvqvM
https://dl.doubtnut.com/l/_giC6dU7NGoHC


Answer: A

Watch Video Solution

48. (A) Fluorine forms only one oxyacid HOF 

(R ) Fluorine has small size and high electronegativity

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_giC6dU7NGoHC
https://dl.doubtnut.com/l/_5oYSOlGFdQZP


49. (A) Acidic nature increases from HOCl to  

(R ) Oxidation number of chlorine increases from HClO to 

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

HClO4

HClO4

https://dl.doubtnut.com/l/_5oYSOlGFdQZP
https://dl.doubtnut.com/l/_2fSZqb59r1Pl


50. (A) Hydrolysis of  gives HF and   

(R ) In the hydrolysis of interhalogen compounds ,lower halogen

forms halide & higher halogen form oxyhalide

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

BrF3 HBrO2

https://dl.doubtnut.com/l/_BB5yDvuERTVO


51. (A)  is the highest numbered inter halogen compound  

(R ) Radius ratio between I and F in  is minimum

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: C

Watch Video Solution

IF7

IF7

52. (A) HCl most volatile hydrogen halide 

(R ) HCl has lowest boiling point

https://dl.doubtnut.com/l/_lYb86sWpI3uf
https://dl.doubtnut.com/l/_64bHGdtbu89B


A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

53. (A) Aqueous chlorine turns blue litmus to red 

(R ) Aquous chlorine is acidic

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

https://dl.doubtnut.com/l/_64bHGdtbu89B
https://dl.doubtnut.com/l/_pSzHUIRucd6x


B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

54. (A) Pka value of HF is positive 

(R ) HF is strongest acid among HX

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

https://dl.doubtnut.com/l/_pSzHUIRucd6x
https://dl.doubtnut.com/l/_1Wig0ZSwlNYp


C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: C

Watch Video Solution

55. (A) IC l more reactive than   

(R )  bond is weaker than F-F bond

A. Both (A) and (R ) are true and (R ) is the correct explanation of

(A)

B. Both (A) and (R ) are true and (R ) is not the correct

explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

F2

I − Cl

https://dl.doubtnut.com/l/_1Wig0ZSwlNYp
https://dl.doubtnut.com/l/_ym24WMhRpSw0


Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_ym24WMhRpSw0

